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1| —x |2EnsUZ - ATEFBUOR BENSUR FEHAE i 83,000 83,000 83,000 83,000
2| = |smHC 58 (%128 BBEAZNTSAYESNTHESR] 500,000 500,000 500,000 500,000
3| —x |asiEszos ($20 URXIGEE ARBUSHRESEEL 325,000 325,000 325,000 318,000
4] =R AR GRS ERER £3E ANTOBRENHREBNEE~RREHTELE S~ 347,000 347,000 347,000 319,000
5| —x |BEEmEERE RSt - I D< 0 (60 BRPEEIMNE B@sE) 114,000 114,000 114,000 114,000
6| —® | AEBLESEEA 1 DR TICRRERE  TATBUBTAA REE] 147,000 147,000 147,000 99,000
7| = |msEBnC Usns IR A DR ECE 196,000 196,000 196,000 123000
8|~ |NPOBAFBETA=I =X A K- IIR=FTES 920 5 E0OUDY T80 - 25 - BD) B 411,000 411,000 411,000 295,000
o| —x |BNEs ABABB LENEDD 101,000 101,000 101,000 99,000
10| - [uEROBS XSRS H2ABFRIV T — b (B2 1 BUBIROBIFEIY I —ILSE) 500,000 500,000 500,000 500,000
11.| = | B RREREAADS BEEOBIHENEE 101,000 101,000 101,000 4,000
12| —x |c2AD I 2EGEES %£10BCZATTR 447000 447000 447,000 447,000
13| = |sustrEEmAES (%548 - - BEOSSSERAR) 374,000 374,000 374,000 316,000
14| =g [apILY Y REBORCR FBABIE - AMFHR BHEHE 455000 455000 455000 417,000
15| =& [P—ko—L RO BEE poco a poco P — FOEET 500,000 500,000 500,000 500,000
16| —R |RESTHEOUERGEER REFTIHEOUE 4 182,000 182,000 182,000 178000
17| —% loTAKDS UATHVTSRE |~V VD57 FHESEI0T5SY TR 466000 466000 476000 458000
18| - |uETARREHIRES E<EFDOVEBEEEBERY P AREER 500,000 500,000 500,000 496,000
19| —x |taEIEA FER [BABORE] BNTZ—3 433,000 433,000 433,000 398,000
20| =R |—BHTEA B5LA> 34 CEBIVI—YY YT 260,000 260,000 260,000 237,000
21| = |sm s URITIT D L R~ T TER BT~ 369,000 369,000 369,000 350,000
22| - |[V2aEREERRTEES FYRIZ2 75« —5% « BAEH [PLATFORMJ 500,000 500,000 500,000 500,000
23| - |[FBETHEY O VV-ZXH5T IE5 HESEREOUE TRBED) & [VVOLENSENXY 89,000 89,000 89,000 82,000
24| —yp [FERBREBENOSSELOUI=Y 3 [ELUL 20— AORI—IRE > CERILE S/ AR—YRT 282000 282000 282000 162000
25— |eeEEO< DRFEES BESEEUCIESREE (B8O 2BAEEIVI—I) 295,000 295,000 295,000 o
26| = |REXRSWEMEN s PLBOVA 7TV REEHOPEDS [U5eS8) ERUT 149,000 149,000 149,000 118000
27| = |[+BRBLOS TBRBUOE (BB 291,000 291,000 291,000 282,000
28| = |Kirschbaum (FILY2/394) LUDHBHE R TRUCERD | (865 /y-0-89C 132,000 132,000 132,000 86,000
29| = |BABOBER 2F7vT44 BABEOBEH 27vT 159,000 159,000 159,000 23,000
30| TR |shmAERHRE YRS FDDRSEDT —Y 3V UPILS A AREEE 500,000 500,000 500,000 500,000
31| =% |EERHRY FO—D [0 T PIEF TOB< NABESABMIEN ] 51,000 51,000 51,000 15,000
32| = |EEEmASTEER B EASEBFRES OB RaH N ER 500,000 500,000 500,000 500,000
33| = | REBEAE IOV LY FF—A 3BT RD) REDBSAEIC & BHE HELOEEDNER 500,000 500,000 500,000 500,000
34| TR | DPIU—UR— b B<S5HUIAT BFT—RICEES | 2FS | KU | [BASASD) 152,000 152,000 152,000 123000
35| = |[KOGIN BASE CEAERT ~CEADRRELDRER~ 500,000 500,000 500,000 261,000
36| = |BAWEKHE EALTITOYI - 500,000 500,000 500,000 500,000
37| = [RULal EBREGEES I AR AT SERD 339,000 339,000 339,000 270,000
38| TR |NPOEAZLETJ K-V TOY T - 530 RIS SBproject~ NEHHT T v N—HE 500,000 500,000 500,000 500,000
39| T |SAEIAERT 1 —ILIXVE STRF 4 —LNVRED—DY39T2023 479,000 479,000 479,000 333,000
20| =% |E5IE CEEOEFHBRENL IOV - 203,000 203,000 203,000 156,000
41| T | =ARIET< DEREES AT FEARKIBEOR RETH I (FRE 334,000 334,000 334,000 334,000
42| =x | osgEs ISEEFOS BTREE 310000 310000 310,000 202,000
43| =x |ceenEBsI—V3aERGEER CEEDEBITVISE vol8 481,000 481,000 349,000 323,000
44| =R | RERSHEEBETRE ABRSHEBH<D] 75,000 75,000 75,000 75,000
45| =R | Bo5BEN (8 ELHIR D= KT —bBoFBEN () EBHDACHENELEGETS 443,000 443,000 479,000 474,000
46| =R |NPOEA LODA—2 AADTT BBUREIY 486000 486,000 486,000 440,000
47| =R [BEBTREREE EOEONBAUNBEAR 164,000 164,000 164,000 154,000
= it 15,225,000 15,225,000 15,139,000 13,254,000
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1| =R |HREERERD Pom Music Club 50,000 50,000 50,000 50,000
2|ZR|TEA IDDST b PAUAYISD=D0—=DY3vT FEOIE (—<3] 50,000 50,000 50,000 50,000
3.| =K |Sott Sott DB Sott Sott 50,000 50,000 50,000 50,000
4| =ZR|ICEEDBEN HIVFFE CEEDBRM HSVFFE 50,000 50,000 50,000 34,000
5.|=R M@ ICEENNE) BELMA FrAILESAYOBEE 50,000 50,000 50,000 50,000
= 5 250,000 250,000 250,000 234,000




